o
&
=

az0 220
1,500 [ 5, 300 [ 6,550

PEDE
p

3,010 2 1080 1, 880 1, 680 1, 680 [ 20 ] 1,000 .

r
5
=

3,400 3,920

]S

\ %@\
.

)

/)
QE{:

1
<
o

=

{5

1,240
. B8P, A2
2,200 C) 1

S T
>

. 250

6
[ I=
e

340 21 300

IR RIN Y ZieSe5 49499

o o £ e "
EEEEEEEEEEEEEEEEI
=EEEEEEEEEEEEEEEETR
gl B B B B B N e
A clqicd ZEOG o0

20, 340

. 13,000 )
| ‘ ) 500 420| 360

5 -1B3BBB8888888] [«

o

PSSP, _r_/ /_.u-'.?’_/

{ EEEEEEEEEEEEE S

(AA— 7 (A0
UP—) —UP

N EEEEEEEEEEEEE‘“@

820
1,000 1, BED
1

I T T T T 11" —

_r_/ tf it F S D505 J00)
- — _




